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D000 matbOD D OO0 jp 000 840 100000000000000
oot rRObboboboooogogo
O ROODOODOOOOOOOoUOoooobooboooooouogn

1] 1t the first element ooooooo

[1] 0.71

ji[84] # the last element Oooooooo

[1] 11.61

jL4] # the first 4 elements Oooooooodnd

[1] 0.71 0.63 0.85 0.44

jj[-(1:80)] # everything EXCEPT the first 80 elements OO0O0gd 80

00000Oo00
[1] 16.20 14.67 16.02 11.61

length(j)) # the number of elements Oooogo
[1] 84

dim(jj) # but no dimensions ... Oooo

NULL

nrow(j)) # ... NO rows 0O

NULL

ncol(jj) # ... and no columns 00O

NULL

#0000 j) ODO0O0O0OO0O0OO0O0OO0O0oO0OooooOooon 84 11 100

jj = as.matrix(j))
dim(jj)
[1] 84 1

oo ) dooooooooogd
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dim(jj)
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oo ) dooooooooogd
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ts.plot(x, main="ts.plot(x)")

ts.plot(ts(x), ts(y), col=1:2, main="ts.plot(x,y)") # note- x and
y are ts objects

#--- the help files [? and help() are the same]:
?plot.ts

help(ts.plot)

?par # might as well skim the graphical parameters  help file
while you're here

plot{x) plot{x,y)
[+] 2]
w - -] oy -
ol = L4 x N = . .
IS L &
it e a & = = =
= £ = -] Az
- - i - - - i "
-2 L] 1] ] L] L] 2 ] 1 2 ]
2 4 & & 10 - ] 2 0 2 4
Index i
plot.is(x) plot.ts{x,y)
[]
- - - J_,a-" \\\

0
.-
.
| P
\\"-

: § < - b w5 ot
T T T T T - | T T
2 4 £ -3 10 4 2 0 2 4
Tme x
ts.plot(x)
q F*
N =
wr S - L '
Pa _ A
T T T T T T T T | T
2 4 8 8 10 2 4 & 8 10
Time Time

Jobobogbotgbotdbtobobobouboubotdn plot) JOO0OGOOO
Doooooooooog plotts() ODODOOOOOOO

oo jp oo ooobooooooog
Jodboobooobotuboubtobobououbotboboboboogogo

Joooooooooooooo ) oot ooooooooooon
Joobooboogboobogn
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ooogon
i) = ?it2) + ? i1 + ? i+ ? 0ilt+1) + ? it+2)

JO0o000 lowess DD O0OO0OOODOOOODOOOOO ) Oooooogn
oo

k=c(.5,1,1,1,.5) # k is the vector of weights O0oddoooooooad
(k = k/sum(k))
[1] 0.125 0.250 0.250 0.250 0.125

fjj = filter(jj, sides=2, k) # ?filter for help [but you knew that already] ooood
0o

plot(jj)
lines(fjj, col="red") # adds a line to the existing plot O0o0oooon

lines(lowess(jj), col="blue", Ity="dashed")#lowess oo

B e e e S

15
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Time

00 ) boooooooooooogo
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000000000 jj 0000 log 000000000 log 0000000 log
0000000000000 000000000 0D0000000000 00000
000000 nO00D000000DO0O000 nl10000

dljj = diff(log(j))) # difference the logged data O log ODOOOO
plot(dljj) # plotitif you haven't already ooooad
shapiro.test(dljj) # test for normality Ooodoooooooaa

Shapiro-Wilk normality test
data: dljj

W =0.9725, p-value = 0.07211

Jobogboogotubtdbobooboboood euUibuouuonog
oot buboubyd oboubotdbotdbtuoboboobouogn
Joooogouodbooboobno bboboouotddo bououotdbotoboobod
Jooooououodn bbb obogogodouobh tooboobooobood
oottt rRotbbbobooodotdo

guoodootdbodgobogd

par(mfrow=c(2,1)) # set up the graphics dooooood

hist(dljj, prob=TRUE, 12) # histogram Oooon

lines(density(dlj))) # smooth it - ?density for details ooooooon
gqnorm(dlj)) # normal Q-Q plot QQ [l

gqline(dljj) # add a line O QRO O O OO

Jogbooboooooououogn
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Histogram of dlijj

g

7~

20
|
/

Density
1.0
%

T,
!
,Jf

Sample Quantiles

Theorebcal Quantiles

oo odbodbotobobooboun gbobtdbtobobooogao
oo gobououodotooobono oobobobooboooouno o0
Jogboogbogboootddh bbb oboy boubotdb bbb obog o
oot bbbt bbb oboboooubotuoubd
Jobtdbtoboobobooouotubtubgbobon Do0ooooood log O
oo dy oooooooooooooooooooooooon

oottt obobouoound
oo oboboobooogogo lag. 0O QOOd
o0 1200000000000 0b00obobuoboobod ioooogno 12
Joogoud 3dbugbououobodob 1200000 300o0b 3ood
000 lag3.3 OD0D0O0O0O 120000 30000000 lead3.

Jogbogboouotud bobboobobogbotubtuobuobootl bubobd
oot bbbty bbb oboboy bbobubotgo

bbbt otdbotdbbotgbbtotdbotdbotbootdboogbnd
Juobogubtgtdbotdbootdbootdbogbod

Jd0o00oddooddonD bobbooobodoobooobooooboooon
JO0O0000o0n0 Doooooooobooooboooboboooooo oooooooo
Jdo0ooooooooooooooooon oobooobooobooobood
JO0odon lag.plot.
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oo ogubodotdbotoboobobodg tboouotuodboooon
oo gobououodotooobono oobobobooboooouno o0
Jogboogbogboootddh bbb oboy boubotdb bbb obog o
oot bbbt bbb oboboooubotuoubd
Jobtdbtoboobobooouotubtubgbobon Do0ooooood log O
oo dy oooooooooooooooooooooooon

oottt obobouoound
oo oboboobooogogo lag. 0O QOOd
o0 1200000000000 0b00obobuoboobod ioooogno 12
Joogoud 3dbugbououobodob 1200000 300o0b 3ood
000 lag3.3 OD0D0O0O0O 120000 30000000 lead3.

Jogbogboouotud bobboobobogbotubtuobuobootl bubobd
oot bbbty bbb oboboy bbobubotgo

bbbt otdbotdbbotgbbtotdbotdbotbootdboogbnd
Juobogubtgtdbotdbootdbootdbogbod

Jd0o00oddooddonD bobbooobodoobooobooooboooon
JO0O0000o0n0 Doooooooobooooboooboboooooo oooooooo
Jdo0ooooooooooooooooon oobooobooobooobood
JO0odon lag.plot.
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acf(dljj, 20) # ACFto lag 20 - nograph shown... keep reading
pacf(dljj, 20) # PACFto lag 20 - no graph shown... keep reading

# IINOTE! acf2 on the line below is NOT available in R... details
follow the graph below

acf2(dlj)) # this is what you'll see below

Series: dljj

1.0

ACF
05

0.0

=0.5

LAG

PACF
0.5 10

0.0

=05
|

LAG

"mmmfifjmt?Ejfim}iéﬂgtimfiAkfﬁﬂmﬁiijfﬂmfjfjfimmmi:é;é:a:étmmmwtifimtififjmffEjiimﬁiijqﬂ” o

0400000 1,23,45 000000 4,812,16,20 0000
0000000000000000000 0000 djj 000 tsdij freq=1):

0000 acf(ts(dlj, freg=1), 20)0 00000 ACFOOOO0OODD 1000000
40000 2000000 600000000000000 408000000

00000000000D0000000 ROOOOOOOOOO jj 00000
lag 000000000000 000D000000000000000000000
0000000000 00000000000000000000 j 000000
000000000000000000000000

0000000000000000

Log(j)= 00 +00+00

log(jj) = trend + season + error
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00000 ROOO st), ODOOODO st OODOOOOO lag 0000 jj O
0000O0* per” 000DDO00DOO0OO00OOO0OOO st 000DO0OO0DOOO
0 dogd ROOODOO Plot 000 dog0O0O00DOO0

googooogo”

plot(dog <- stl(log(j)), "per"))

Jooboogogod

data
'
=

seasonal
_\_"-\.‘_\__1
o 05 DOS
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o 2
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wn
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T =
b
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i ] =
- >
&
L}
1960 1965 1970 1975 1980
time

00000 ROODOODODDUODODOOOOOO logl) DOOODOOOOOO
Jotbogboguooubtdbtuboobobouboty gbhtubtdbtoboboubogd

Joboboobotoogbotubtdbtobobobobogogn oot

Joobooboooououn goobtoboob bououodbooboboboood
Jooboobogouodboboobooogo

oot oboboouodbotdbouboboon QQ
otboobguotgbtdbtubugbobodbotdbtuod dog$time.series|,3] []
D00000 dogOOOQOOOO timeseries 000000 0O0O0O0OOOOOOOO
00000000 $000 dogODOOO timeseries O0OO0O0O [3] DOOOOOO

© uml.org.cn
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OOo0doogboogoogoodnn ACHOUOOOOOOOOono
acf(dog$time.series[,3]) 0

Dodoodoon log OO0 jp DOO0OOOODOODODOO0OO0OOOOODOOOO
Joobobtubotdbotobobouououbouobobooogn oooooogg
Jooooooooooonoono gy oboooooooooooooooood

Jogboobobood goboububoobobouogboty tbuboobobod
Jotbotobdg ogugbogbtdbtobuobobogbotdby oubotubtd botubdgod

Jodbogboobouoogogno

Dobobobobobbobbbobobbbbbobbobbobodoooodn
log(jj)= B *time+ o *Ql+ o *Q2+ o #Q3+ a *Q4+ ¢

00000000000
log(j)= O00*00+000000 *000+000000 *000+000000 *

Joo+0gooodg *oogg +00

oo p ool o200 00000000000
Jodoobooboououn guoououbodotobobooboooouogo OO0
Jooooboooouno bbb oboououoobooboobon Q1Q20Q30Q4
oo QUibuobodobiobd tobobtudobuootb bbobuoboobobod
Jobooboooubtubtobobobogogn

Jobo0d QiuibuobQiuibubouood 10 o0 Qiuibuoboobod 1o
203040 U0 010t QuuuubuQiuuuouoond 1uod 2,3,4
00 QIuibli Qiubouooog oO.

O QiU Qubbotbong 1,234 0 O0UO0O0UOO0O0O 200020000
o0 1ooog 1,34 doQQ2uuiboogn 0.Q3bibnd 1,234 U000
00 3000t 1guododoon guo c.e4euod 1,234 U000
o 400000 1godobooogdg  o.

00000000000000000000000000000 Q10000 10
Q20000 00Q30000 00Q400000 000000 QL Q3ITQ400 0000

oo ogooboogng ouououod o, oubotdbtd QiU 1bodod
oottt oboboouogn

Juoogboogug

Jdo00oddooddon ROODODOOOOOOOOOOOOOOOO OOOoO
O summary)U O OOOO0O0OO0OOOO

guoodbootguod



Q = factor(rep(1:4,21)) #
repeat 1,2,3,4, 21 times]

make (Q)uarter factors [that's

trend =time(jj)-1970 # not necessary to

results look nicer

reg = Im(log(jj)~0+trend+Q,
without an intercept

#-- the na.action statement is to retain time series attributes

summary(reg)

Call:

na.action=NULL) #

Im(formula = log(jj) ~ 0 + trend + Q, na.action = NULL)

Residuals:
Min 1Q Median

-0.29318 -0.09062 -0.01180

Coefficients:

3Q Max
0.08460 0.27644

Estimate Std. Error t value Pr(>[t|)

trend 0.167172 0.002259 74.00
Q1 1.052793 0.027/359 38.48
Q2 1.080916 0.027365 39.50
Q3 1.151024 0.027/383 42.03
Q4 0.882266 0.027412 32.19

<2e-16 ***
<2e-16 ***
<2e-16 ***
<2e-16 ***
<2e-16 ***

Signif. codes: 0 *** 0.001 **' 0.01*' 0.05'.'0.1"''1

Residual standard error: 0.1254 on 79 degrees of freedom

Multiple R-squared: 0.9935, Adjusted R-squared: 0.9931

F-statistic: 2407 on 5 and 79 DF, p-value: < 2.2e-16

Jogbogboooououogo

Jo0o0ooooooo twend DO0OOODOOODOOOO
U ROODOO ~Oogbotubtdbtdbgboboubogn

"center" time,

run the

QOO0 _ kg -gm=
. © uml.org.en

but the

regression

QUDDDOO0NDDOOODDDOOODDCO
m) 0000000000
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Jooooooooo legp DOOoooobooooooo ~oooood od
trend, 0O QUUIOUOOOOODOOOOD OO0O0OO0O0O ~000OO00OO0O0OOOO OTREND
[ Qfunction OO0 Logllj OO

Jdoodoooooooooon obooobdoobooobo oooon
000000 ooon xoooood yoooooooooono oooooooon
Jooooooooooooooogd 0. U~000 ouoooooooboooo
Jodooooooooooooo ooboooooboooooooooono ooboooo
Jodooouoooodonod rROOOO oUOO0 1.000RODOOOOOOOOOOOO
OO0 summaryl 000000000000 O0O0O0OO0OO00O00O0O00O00O0 B
0000 o0.1e71720 00000000 awOO0OO 1.0527930 000000000
all0J000 1080901600 00000000 asO000 1.151024 ODOOOODOOO
00 adOd0O000d 0.882266 [

Joooooobooooooooooooboooooon

Log(jj)=0.167172* 00O +1.052793*Q1+ 1.080916*Q2+ 1.151024
*Q3+0.882266*Q4+1 [

Joooooooooooooooooog 20000000000 4400000

Joooooo

Log(jj)= 0.167172*200+1.052793*0+ 1.080916*0+ 1.151024 *0 +0.882266*1=Now
check out what happened. Look at a plot of the observations and their fitted
values:

oot ouodboobooboon Jogo
Jobooboooouotdbooboobooboouoy gotubtubobobouogd
Jotgbooboootbtdbtubtobobogogn

oot oboboodbouboboobooboouogo
O0ooodooo log() OOODO0OOOOOOODOOOO0OOOOOOOOOO0
00 fited(reg) ODUOOO0O0OOODODODOOOOOOOOO

plot(log(jj), type="0") # the data in black with little dots
lines(fitted(req), col=2) # the fitted values in bloody red -

or use lines(reg%fitted, col=2)

0000000000 00000000000 00000 0000000000
O log() 0OO0O00DODOOO0OO0ODDOOO log() 0OODOOOODOOOOOODOO
00000000000 0000O0On
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1960 1965 1970 1975 1980
Time
... and a plot of the residuals and the ACF of the residuals:
OO0 log(j) ODOOOOOOOOOOOOOOOOOOOOOOOOOO
residuals O0OO0O0O0OOO0O0OOO resid(reg) OO0OOO
O 00O plot(resid(reg)) DO0ddoooooooooooooooooo
0 0 O 0O acf(resid(reg),20) 0000000000000000 0000000
DOodddooooooooooooooooooooooooo lag0 O ACF [

oot 10t

par(mfrow=c(2,1))

plot(resid(req)) # residuals - reg$resid IS same as resid(reg)
acf(resid(reqg),20) # acf of the resids
J00000o0odooooon ooboooobooobobooooboooooo

Dodoooooooooooogn lagd DUOO0O0O 10000000 lag Oogg
Joobobouogbotdbtuobobobogboubtoboboobouogno
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0.1

reg$resid
0.1
I
—r———
o R
-_—
=
o
<
L =
R
T
{_'::b
—::';Tr-—:-_
__"'-—__.__
—
I\‘L_‘_‘—\--
-
g
Ve
&
-
-
—
-:::___
B,
—
u:f____

03

Time

10

06
|

ACF
1

..............................................
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2.0 0 ROODODOOOOO O

Jotbgbgbotgbotubtubtbobobobnod ROODO Im() DODOO
Jobooboboogotububuoboobon

oottt obobououbodod HEN
oot oboobogogn cmortdat, OOO0OOOO0O

00000 partdat DOODOO0OOD0O0O0OO0O0OO0O ROOOOOOOOOOOO
0o
U rROOODOOOOOOOULOoOOoOn

mort = ts(scan("http://www.stat.pitt.edu/stoffer/tsa2/data/cmort.dat"),start=1970, frequency=52)

# make these time series objects

Read 508 items

part =
ts (Scan (" http://www.stat.pitt.edu/stoffer/tsa2/data/ part. dat") Start=1970,
frequency=52)

Read 508 items
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DO00O00000 ts.intersect() OO0 mort OO0 part OOOO part

Jotboobooboouououod tbobobooubouotdbotoouoboboog o0
Jotbobobod

oottt otdbotbtobogbogbotubtdbotboobobodgogn
oo ouodno gooubotubotdotobooboobono ouogo

O00oooooooooodg ROOOO lag OOO0O0ODO0OO0OO0OOOODOOOOO
-4 O0dod

ded = ts.intersect(mort,part,part4=lag(part,-4),
dframe=TRUE) # tie them together in a data frame

Dooodooooooood oobo 0boooo mO0O00O0O0OO0OO0OOO
mort UOUOOUOODOOOOO OO~O00part ODUOOOOOOOO part OOOO
Joo0oooooun oo ~-oddoobddobooouod  deddddnd data
= 0o

fit = Im(mort~part+part4, data=ded, na.action=NULL) #
now the regression will work

oot summary DOUOOOUOOOOOOOOO

summary(fit)
Call:
Im(formula = mort ~ part+  part4, data = ded, na.action = NULL)
Residuals:
Min 1Q Median 3Q Max
-22.7429 -5.3677 -0.4136 5.2694 37.8539

Coefficients:
Estimate Std. Error t value Pr(>[t|)
(Intercept) 69.01020 1.37498 50.190 < 2e-16 ***
part 0.15140 0.02898 5.225 2.56e-07 ***
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part4  0.26297 0.02899 9.071 < 2e-16 ***

Signif. codes: 0 ***' 0.001 **' 0.01 *'0.05"'."0.1"'"'1

Residual standard error: 8.323 on 501 degrees of freedom
Multiple R-Squared: 0.3091, Adjusted R-squared: 0.3063

F-statistic: 112.1 on 2 and 501 DF, p-value: < 2.2e-16

Jogboogoogotuotdbooboobooood
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OO0o0ododogn order=c(1,0,0) oot X1 O AROOO +0.9 Ux2 U ARDO
0o0-09 0O
Jotbogbouotd gbhbtubtobobobootd bbb obodnd x1

oo +0.9 oo obougn x2 0dod -09 O oOdod

e e

x1 = arima.sim(list(order=c(1,0,0), ar=0.9), n=100)
x2 = arima.sim(list(order=c(1,0,0), ar=-0.9), n=100)
par(mfrow=c(2,1))

plot(x1)

plot(x2)
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O ROOOO ACHHOOUOOOO ACHI Auto-Correlation Function ood. O
000000000000 o00oo0oooboobo0 Ooooobooboooooooon
Oo0000o00oooooooono  ACFOOOO
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0000000 oubOouoootobocooboooooooooooooon

Jobooouoboobotd xid x2doddd ACHFO PACH

par(mfcol=c(2,2))
acf(x1, 20)
acf(x2, 20)
pacf(x1, 20)
pacf(x2, 20)
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o x2dbdgguodobood AcHUOutdonooodobooouoogn
Jooboobooboogodouogod oo xgodotdoooood
Jooooboooouodn x20000n

Oooooooooooo MAOODOOOO ARIMASIMO)UOOOODODOOOO
OO000odooon order=c(0,0,1) UOmalddOdO0oo00d malOOOOOOOO
+0. 800000 100000000 3o oboooogogn ACH]

PACH] O U O
Jobgtgbogtdbootdbootdbotdbod

# an MA1l

x = arima.sim(list(order=c(0,0,1), ma=.8), n=100)
par(mfcol=c(3,1))

plot(x, main=(expression(MA(1)~~~theta==.8)))
acf(x,20)

pacf(x,20)

expression(MA(1}-~~theta==_8)

¥
-2 o 2
L1111

0 20 40 B0 a0 100
Time
Series x
a _
" i
¢ S :"\"F ______________________________________________________
|
s N ——— | P, P SRR ORI, FPNURY PN [EONRRL SPRL PY B |
= | I | I
1] 5 10 15 20
Lan
Series x
“-—
=
L
% = r | [ : I : | : 1
=
- S S B, S S A S — =
o =
= T ] T T
5 10 15 20
Lag

oot obotboootubtbtoboboououbounod
Jubogtugbgtdbootdbootdl bbb ttdbtg bbb otdbootgbon
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Juogdogtdoodog



QOO0 _ Xk - xE
. © uml.org.en

25
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order=c(2,0,0) OO0 AR2O0O000O000O000ouod ArRRO0ODOOOOOO

Jooooboood AROO 1 0-09 OUDO0OUOOUOOUOOOOOOOOOO0O

# an AR2
x = arima.sim(list(order=c(2,0,0), ar=c(1,-.9)), n=100)

par(mfcol=c(3,1))
plot(x, main=( * expression(AR(2)~~~phi[1]==1~~~phi[2]==-.9) ")

acf(x, 20)
pacf(x, 20)

gxpression(ARZ}-——phi[il==1-—-phi[2]==-9)
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Jobobogogotdbotd  ARIMALDL,11 OO0OO0OO0OO0OO0OO0O0O0
order=c(1,1,1) Jooootd ARIMAOOOO AROOOO 09 IMALDOOO 05 O
oo 20 0000000000000 000gd

# an ARIMA(1,1,1)
x = arima.sim(list(order=c(1,1,1), ar=.9, ma=-.5), n=200)

par(mfcol=c(3,1))

plot(x,
main=( “ expression(ARIMA(1,1,1)~~~phi==.9~~~theta==-.5) "))
acf(x, 30) # the process is not stationary, so there is no

population [P]ACF ...

pacf(x, 30) # but look at the sample values to see how they differ
from the examples above

expiressionARIMA{1 1,1}~ phi== 3~~~ thata==..5)
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OO0 ARIMADO OO OOO arima.sim(). Jouogodgon oo nd
o5 0000 oboboououbobtobooboboouogogn
arma() D000 xOOOoooooon

Jooboooououodod  ARODOOOU0OO0O 0.84650 mallO O OOON
-0.5021 OO obuoboobuoboboboobouoboo
Jotg

Jdoooooooooo
x = arima.sim(list(order=c(1,0,1), ar=.9, ma=-.5), n=100) #
simulate some data

(x.fit = arima(x, order = c(1, O, 1)) # fit the model and print
the results

Call: arima(x = x, order = c(1, 0, 1))

Coefficients:

arl mal intercept <-- NOTthe intercept - see R Issue
1
0.8465 -0.5021 0.5006
s.e. 0.0837 0.1356 0.3150
sigma”2 estimated as 1.027: log likelihood =-143.44, aic =

294.89

Joobooooguodododoobool ouotuodboobooboooooo o
O000odno tsdiag() DOOO xfit OD000OD0O0O0OOOO

Jobgboogodbotdbobobobououbotbobobobooood
0000 Standardized Residuals, oot botubuobobobod
Jooooboouooud oobogoubodbotolb bbb obobouogo
oo ooououodoobootn goubodbuobooboboouogo o
Jotbotoboboogbotdbtbtobobououbtdbgbod

DO00oooooooooood  ACRof Residuals DACFO OO OOOOOOO
Joooobouoodotub bbb oobotdbtuoboo bouogo
oo oubtuouobobon ACHIO 10 ObO oobouoouotuodgod
Jodbooboooououoobouoboobon 10o0dooboboooouogo
Jdoboobobouoogbtubtbotobooboboouogn oL ugooonnd

oo o AcHHbUoboouoouoogodooooboboon ogo
Jobooboguboubotdbtobobobouboubuod ACHIOUOOOOon

Jo0o0o0ooooooood  Lung-Box O0O0O0OO0O0O0OOOO0OOOOOOOO
Jotgbobgbouotgbtubtdbtuobobobogbotubtubtubd P-value [J
Ooodd oo pPvalue D000 00000 0O0OOO0OOOODDOOOOOO OOO0OOO
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[0 nahead =10 OO0 xfit 0O0O0O0O0OO0OO0OO0O0OOOOOOO nahead=10 OO0
o0 100 oboouogboubooboobod X.fore.

oottt obouogbogn u LU Ooogogd L
ool bbbt obobouogbboboobooogn
Jodoobooboooooouogo

Joood Min O MaxUODOOoOQooooooooooooooooo o0ooogo
ooooooooooogo  TS.PLOTOUO . DOODO0ODO0ODOOOOOO 100000
Do0ooooooooooo lnes() DOODODOOOOODDODOOOOOODODOOO
Joboobooogbotdbtubotobobououboubogod

x.fore = predict(x.fit, n.ahead=10)

# plot the forecasts

U = x.fore$pred + 2*x.fore$se

L = x.fore$pred - 2*x.fore$se

minx=min(x,L)

maxx=max(x,U)

ts.plot(x,x.fore$pred,col=1:2, ylim=c(minx,maxx))
lines(U, col="blue", lty="dashed")

lines(L, col="blue", lty="dashed")

Jobogtoououodbooboolb bubtuboobobotodo gbouogo
Joooboguoogbotububod bbb obouotubdboy obouoogdo
Jodoobod 1ot oboboouotuboubobogbond 2
Joooobooboooououboooood 05%] U000 1000000 95%]0
Joooooogogogod Joooooododooboooogo 5%
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4. U0 RUODOUOOODDOOO

ooty rRUODOOOOOoouoooobog bbb oboboogo
0 globtemp2.dat. 0000 30000000000000O0 18800000 200400
Jubotdogtdbootdbon gubotbbotbogbbototd bodbootgbotdd

oot v b oboboogboubotdbtobogbobg oo

O gemp DOOOOOOO gtemp DOOUOOOOOOOOOOOOON

Jogbogbooguouogogn

u =I’ead.tab|6(" http://www.stat.pitt.edu/stoffer/tsa2/data/ gIobtempZ.dat") #
read the data

gtemp = ts(u[,2], start=1880, freq=1) # yearly temp in col 2

plot(gtemp) # graph the series (not shown here)
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Parameter estimate(s):

Phil  Phi2
0.3980566 0.4134305

Coefficients: Value Std.Error t-value p-value

(Intercept) 3131.5452 857.2141 3.653166 3e-04

trend -1.5444  0.4340 -3.558021 4e-04

part 0.1503 0.0210 7.162408 0e+00
# resid analysis- we assumed e: = @: eu + @2 e + W where w is weight.

0000 ARMA DD OOOODOOooOoooooooooooon ARIMAD OO I
Jo0ooouoodod mort OOOO Mort DOUOODOOOOOOODOOO
Order=c(2,0,0) 0O 0 AR20 0O 0O 0O U xreg=cbind(trend,part) Joooooogogd
Ooooooooon

ot ARMADOUOOUOOLOOLDUOLOOLOOobobooubouboobogbod
3132.70850 000000 -1.5449 U uooon oAas03touooun
Jdobooboobooogboubdbotobooboobon

(fit2.gls = arima(mort, order=c(2,0,0), xreg=cbind(trend,
part)))

Coefficients:

arl ar2 intercept trend part
0.3980 0.4135 3132.7085 -1.5449 0.1503
s.e. 0.0405 0.0404 854.6662 0.4328 0.0211
sigma”2 estimated as 28.99: log likelihood = -1576.56, aic =
3165.13
Box.test(resid(fit2.gls), 12, type="Ljung") # and soon ...

6.1 RUDOUOUOOODOOO L

Jogbogbootdbh rRbtbtdbotobobotootbtdbtobobogboogn

ooty bbb ob ooubtd rRubooogbtoboboobon
oot
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Jogbotoodbtubtdboboboououbouboobod 2, 0 AR(2UDOO
Joooobooboooououbouoood 00 00o0boobooboobooood
Joobooogoubodboobono 220000gododooboobno cuodoood

spec.ar(x, log="no") # parametric spectral estimate

ooy bboouobodoooodgno 3guobon

Jodbogboooouogoun bbb obotb thobooboouoouogo
oottt obobooubotubgbooboboon Joogg
Jooogoooogg 0.000 o5 OO0bOooououodn O0l1e UOOOOO

Jodbotobogbobgn

Joogboooogbouodboobotb oboboboboouotuodno  0.1e OUO
Jobooougooougouoy odobood 200000 uoud oooo

Jubodgogtdbootdbootdd

x = arima.sim(list(order=c(2,0,0), ar=c(1,-.9)), n=2"8) # some
data
(u = polyroot(c(1,-1,.9))) # x is AR(2) w/complex roots

[1] 0.5555556+0.89580641 0.5555556-0.8958064i

Arg(u[1])/(2*pi) # dominant frequency
around .16:

[1] 0.1616497

par(mfcol=c(3,1))

plot.ts(x)

spec.pgram(x, spans=c(3,3), log="no") # nonparametric spectral
estimate; also see spectrum()

?spec.pgram # some help

spec.ar(x, log="no") # parametric spectral
estimate

Jooood
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U000 ROUUOODOOOHM

0000000 ROOOUOO0ooooOoooonooOo 2195000 1987000
Jdo0ooooooooooooooono Oooboooobooooooono ooooad
Jo0000o0oooouodn Southern Oscillation Index(SOl) Dooooon
D000 3 7000ouoooobooouooboaoo

b ROttt odgbbogtbgdbootdboodbon
oo

000 ROOODOOOOO SsSOolD000O00O00O0O0O0
soi = scan("http://www.stat.pitt.edu/stoffer/tsa2 /data/soi.dat")

b ROt otdbooggbotgtd rec Urec oo

Joooougn rec OO0 SOIODOOUOOODOOODOOOODOOO

rec = scan("http://www.stat.pitt.edu/stoffer/tsa2/data//recruit.dat")

Jo00o0ooono solgoooouoodoooooonoa
sol.per = spec.pgram(soi, taper=0, log="no")
JO000odooood 0o112 0148 DOo0oooooooooO oOooooOoad

HREEN
abline(v=1/12, Ity="dotted")

abline(v=1/48, Ity="dotted")

Jooodooouoo boooooosol goooooooooooog 112
oo 1200000000000 00000dogboooobooboonogn
Ooodooooooon oooooobboooooon o0ob 148 ODOooOoooOon

bbbt otdbotbbtgtbtotdbotdbootdbogbond 3-7

bbbt otgbbotgtbotdbootboodbootgn
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Series: soi

Oooogd -
Raw Periodogram

spectrum

o i 1 —

| | I l
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frequency
bandwidth = 0.000601

S. U ROUDUODUOUODDODOUOUOUON

Jubogubttd rRototbbotgtobtgtbotbotdbootgbogboogd
Joo0ooooood alasinglld OO0O0D00OO0O0OD00O0OO0O0OO0OOO0OOOO0OO

bbb gtdbootdbootdbogbotdt 20 00oooooooot
Joubgdbgtdbootdboodgbodgtbtbh butubtotdb gtubotdbotbbotdnd

Jogboobobogbotubtdbtoboboboubogn

bbbttt otdgbogubd 17490 60
019780 1200000 4590000 0000000000 0OO00OO0OO0OOO OO0

Jobtubtdbobobououbtdbotd boubotubtdbtubobuobouogn
Jogboobobogbotubtdbtoboboboubogn 110000

Jogbogoououbodooboobodg oobouotubotdboubog oobood
122000 000000000000000000000 1100ogogogo
Doooooooooooo Jlj4o0ddodooboboioodooonouood
oo botobobobooubotuoubotobooboboood Jooboogogd
oo bbbt obobouoy bubtuboobooboobood
Doodoooon rvisodooobuodooooboboooooooobooon
Joobooboogogo

Jooboobooooood

spot = scan(" http://www.stat.pitt.edu/stoffer/tsa2/data /sunspots.dat"”)

spot.per = spec.pgram(spot, taper=0, log="no")

abline(v=1/22, lty="dotted")
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abline(v=1/140, lty="dotted")

Series: spot
i Raw Periodogram

ooooggn

spectrum
0 30000

| | I l
U2 0.3 04 0.5

frequency
bandwidth = 0.000601
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